
   Addition & Subtraction   

Worksheet-2 

A] Choose the correct answer. 

1. Find the difference when subtrahend = 68401 and minuend = 

182546. 

 

a) 141145                        b) 114145 

c) 115145                        d) None of these 

2. A stockiest had 152700 kg of rice in stock. He sold out 21345 kg 

on the first day and 34575 kg on the second day. How much rice was 

left in the stock? 

 

a) 69780 kg                        b) 96870 kg 

c) 96780 kg                        d) 86780 kg 

3. 77000 − ________ = 25605 

 

a) 50395                        b) 53195 

c) 59315                        d) 51395 

4. 126587 people went to see a cricket match. Out of them 56432 

were men, 54764 were women and the remaining were children. How 

many children were present in that day? 

 

a) 15931                          b) 15391 

c) 19531                          d) 13591 

5. Last year one farmer produced 457176 kg of wheat. This year the 

production decreased by 225626 kg. What is the production of wheat 

this year? 

 

a) 231055 kg                  b) 213055 kg 

c) 231550 kg                  d) 213550 kg 
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6. Mr. John had Rs. 578921 with him. He spent Rs. 123750 to buy a 

motor bike and spent Rs. 272342 to renovate his house. How much 

money left with him? 

 

a) Rs. 182928                  b) Rs. 182829 

c) Rs. 128829                  d) Rs. 189282 

7. What should be subtracted from 685008 to get 232657? 

 

a) 452351                          b) 425351 

c) 542351                          d) 543251 

8. 100 less than the greatest 6-digit number is __________. 

 

a) 999999                      b) 999899 

c) 999989                      d) 999998 

9. 6785 = 12000 − ________ 

 

a) 5125                        b) 5215 

c) 5251                        d) None of these 

10. 

 

 
a) 2290                        b) 1092 

c) 2209                        d) None of these 

 

B] Find the difference  

(i) 693843 – 392622 

(ii) 898743 -465423 
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(iii) 938732 – 411501 

(iv) 432526 -121204 

(v) 868352 – 427038 

(vi) 745486 – 304268 

(vii) 997843 – 584429 

(viii) 384962-152649 

C] Solve the following Questions  

 Jack deposited $341256 in his bank account. He withdrew 

$100368. How much is left in his account? 

 Pat bought a house for $682396. He sold it for $765000. How 

much did he earn? 

 The sum of two numbers are 963562. One number is 493098. 

Find the other number? 
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